2d and 3d Angle – True vs. Complement
Toggling the True/Complement flag in the edit window of a 2d or 3d angle between dimension has the following results:

DIM ANGL3= 2D ANGLE (TRUE) FROM LINE LIN3 TO LINE LIN4 ,$

GRAPH=OFF  TEXT=ON  MULT=10.00  OUTPUT=BOTH

AX   NOMINAL     +TOL       -TOL       MEAS        DEV      OUTTOL   

A      45.000      3.000      5.000     45.000      0.000      0.000

[image: image1]
There are actually four different angles between these lines (2d).  When the nominal is set in the dimension to 45 degrees and the TRUE/COMPLEMENT toggle field is set to TRUE the graphical analysis looks like this:

DIM ANGL1= 2D ANGLE (TRUE) FROM LINE LIN3 TO LINE LIN4 ,$

GRAPH=OFF  TEXT=ON  MULT=10.00  OUTPUT=BOTH

AX   NOMINAL     +TOL       -TOL       MEAS        DEV      OUTTOL   

A     45.000      3.000      5.000    45.000      0.000      0.000


[image: image2]
If you enter in 135 degrees in the nominal, but keep the TRUE/COMPLEMENT toggle field set to TRUE, it will measure this angle, as shown in the graphical analysis:

DIM ANGL2= 2D ANGLE (TRUE) FROM LINE LIN3 TO LINE LIN4 ,$

GRAPH=OFF  TEXT=ON  MULT=10.00  OUTPUT=BOTH

AX   NOMINAL     +TOL       -TOL       MEAS        DEV      OUTTOL   

A     135.000      3.000      5.000    135.000      0.000      0.000


[image: image3]
For this example of 2d angle between lines, the TRUE modifier can actually calculate the 45 and the 135 degree angles on one side (to the right in this case).  Toggling the TRUE/COMPLEMENT to COMPLEMENT will flip this over so it could measure the same angles, but display them on the other side (to the left in this case).  So in the same two dimensions as above, with the exception that they use COMPLEMENT instead of TRUE, the results would be like this:

DIM ANGL3= 2D ANGLE (COMPLEMENT) FROM LINE LIN3 TO LINE LIN4 ,$

GRAPH=OFF  TEXT=ON  MULT=10.00  OUTPUT=BOTH

AX   NOMINAL     +TOL       -TOL       MEAS        DEV      OUTTOL   

A     45.000      3.000      5.000    45.000      0.000      0.000


[image: image4]
DIM ANGL4= 2D ANGLE (COMPLEMENT) FROM LINE LIN3 TO LINE LIN4 ,$

GRAPH=OFF  TEXT=ON  MULT=10.00  OUTPUT=BOTH

AX   NOMINAL     +TOL       -TOL       MEAS        DEV      OUTTOL   

A     135.000      3.000      5.000    135.000      0.000      0.000


[image: image5]
Conclusion:

The dimension can report any one of the four angles between two lines by using the TRUE/COMPLEMENT toggle field and by using the calculated nominal or 180 degrees minus the nominal.  Each of these four angles is a valid angle between these two lines.
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Four different  2d angles between two lines.





45 degree angle with TRUE selected.





135 degree angle with TRUE selected.








45 degree angle with COMPLEMENT selected.








135 degree angle with COMPLEMENT selected.











